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Enrollment No: _______________________         Exam Seat No:_______________________ 

C.U.SHAH UNIVERSITY 
Winter Examination-2018 

 

Subject Name : Transmission and Distribution of Electrical Power  
Subject Code : 2TE04TDE1                                    Branch: Diploma (Electrical) 
Semester : 4         Date : 25/10/2018   Time : 10:30 To 01:30   Marks : 70 

 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 
Q-1  Attempt the following questions: 

 
(14)  

 a)  Corona effect can be detected by  

A. hissing sound  

B. faint luminous flow of bluish color  

C. presence of ozone detected by odor  

D. all of the above.  

 

 b)  Maximum permissible span for wooden poles is  

A. 10 meter  

B. 20 meters  

C. 60 meters  

D. 200 meters.  

 

 c)  The chances of corona are maximum during .......................  

A. summer heat  

B. winter 

C. dry weather  

D. humid weather 

 

 d)  In India which types of distribution system is mostly available? 

A. Radial  

B. Parallel 

C. Network 

D. None 

 

 e)  The effect of ice deposition on conductor is  

A. increased skin effect 

B. reduced corona losses  

C. increased weight  

D.  reduced sag. 

 

 f)  ACSR conductor implies  

A. All conductors surface treated and realigned  

B. Aluminum conductor steel reinforced 

C. Anode current sinusoidally run  

D.  Anodized Core Smooth Run.  
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 g)  The single phase supply voltage for residential customers is .................... 
A. 110 V 
B. 210 V 

C. 230 V 
D. 400 V 

 

 h)  When the power is to be transmitted over a distance of 500 km, the transmission 

voltage should be in the range 

A. 33 kV - 66 kV  

B. 66 kV - 100 kV  

C. 110 kV - 150 kV  

D. 150kV - 220kV. 

 

 i)  What is the highest possible transmission voltage in India? 
A. 675 kV 
B. 765 kV 
C. 132 kV 
D.  440 kV 

 

 j)  The neutral wire is coloured ................... . 
A. black 
B. green 
C. red 
D. blue 

 

 k)  750 kV is termed as 
A. Medium high voltage 
B. High voltage 
C. Extra high voltage 
D. Ultra high voltage 

 

 l)  Conductors for high voltage transmission lines are suspended from towers  

A. to reduce clearance from ground  

B. to increase clearance from ground  

C. to reduce wind and snow loads  

D.  to take care of extension in length during summer.  

 

 m)  RCC poles usually have span of  

A. 250-400m 

B. 80-150m  

C. 50-80m 

D. 25-50m 

 

 n)  Boosters are basically 

A. inductors  

B. capacitors 

C. transformers  

D. synchronous motors.  

 

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 

 A Explain the methods of feeding secondary distributors.  

 B Compares suspension insulators with pin insulator  

    

Q-3  Attempt all questions (14) 

 A for the three insulator's string, The mutual capacitance is 9 times to the shunt 

capacitance. Line voltage is 33kv. Find the voltage across each unit 
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 B List types of bus bar arrangement. Explain any two arrangement.  

    

Q-4  Attempt all questions (14) 

 A Explain skin effect  

 B Explain Pi (  ) Method of Medium Transmission line.  

    

Q-5  Attempt all questions (14) 

 A Give the requirement of underground cables and explain general construction of 

cable. 
 

 B Compare Primary and secondary distribution system  

    

Q-6  Attempt all questions (14) 

 A Explain requirements and disadvantages of EHV transmission  

 B Explain types of HVDC system and Write advantages of it.  

    

Q-7  Attempt all questions (14) 

 A Draw and explain h type cable, SL type cable & HSL type cable.  

 B State the classification of cables.  

    

Q-8  Attempt all questions (14) 

 A Compare outdoor type substation over indoor type substation.  

 B Explain the function of any seven elements of Substation.  

    
 
 
 
 
 
 
 

Q-1  Attempt the following questions: 

 
(14)  

 a)  કોયોના અવય .................... દ્વાયા ળોધી વકામ છે.  

A. શીવીંગ અલાજ દ્વાયા 
B. લાદ઱ી યંગ ચક્કય તેજસ્લી ફ્રો દ્વાયા 
C. ઓઝોન શાજયી ગધં દ્વાયા 
D. તભાભ ઉ઩ય.  

 

 b)  રાકડાના ઩ોર ભાટે ભશતભ સ્લીકામય સ્઩ાન ................................  

A. 10 ભીટય 

B. 20 ભીટય 

C. 60 ભીટય 

D. 200 ભીટય 
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 c)  કોયોના થલાનન ભશત્તભ ળક્યતા...............................ભા શોમ છે  

A. વભય શીટ 

B. નળમા઱ો 
C. ડ્રામ શલાભાન 

D. બેજલા઱ો શલાભાન 

 

 d)  બાયત બાયત ભા કઈ ડિસ્ટિબટુન સિટિભ લધાયે પ્રભાણ જોલા ભ઱ે છે 
A. યેડિમર 

B. ઩ેયેરર 

C. નેટ્લક 

E. ઉ઩ય ભા કોઇ નડિ 

 

 e)  ફયપ ના થય જાભલા થી લાશક ઩ય ની અવય...................... છે  

A. ત્લચા અવય લધાયો 
B. ઘટાડાના કોયોના નકુવાનની 
C. લધામાય લજન 

D. ઘટાડાના નભી. 

 

 f)  ACSR લાિક ભતરફ 
A. ઑર કનિકિિસ િપેિ ટ્રીિેિ એન્િ ડયમારાઇંિ 
B. અલ્યસૂભસનમભ કંિક્િય ટિીર યીઇન્પોટિસ  
C. આનોિ કયેંિ સિનિૂોઇિારરમ યન  
D.  એનોિઇજ કોય ટમદૂ યન 

 

 g)  યેનવડેન્શળમર ગ્રાશકોને નવિંગર પેઝ પયુલઠા લોલ્ટેજ....................  છે 

A. 110 V 
B. 210 V 

C. 230 V 
D. 400 V  

 

 h)  જ્માયે ઩ાલય 500 ડકભી દૂય ઩ય પ્રિાડયત કયલાભા ંઆલે છે , ટ્રાન્િસભળન લોલ્િેજ યેન્જ  
કેલી િોલી જોઈએ 

A. 33 kV - 66 kV  

B. 66 kV - 100 kV  

C. 110 kV - 150 kV  

D. 150kV - 220kV. 

 

 i)  બાયતભા ંિૌથી લધ ુળક્ય ટ્રાન્િસભળન લોલ્િેજ શુ ંછે? 

A. 675 kV 

B. 765 kV 

C.  132 kV 

D.  440 kV 
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 j)  The તટસ્થ લામય .................... યંગ નો છે 

A. કા઱ા  

B. રીરા 
C. રાર 

D. લાદ઱ી 

 

 k)  750 KV સધુી...................  તયીકે ઓ઱ખલાભા ંઆલે છે   
A. ભઘ્મભ શાઇ લોલ્ટેજ 

B. શાઇ લોલ્ટેજ 

C. નલળે઴ શાઇ લોલ્ટેજ 

D. .અલ્રા શાઇ લોલ્ટેજ 

 

 l)  લોલ્િેજ ટ્રાન્િસભળન રાઇન્િ લાિક િાલય ઩યથી ળા ભાિે િટ઩ેન્િ કયલાભા ંઆલે છે 
A. જભીન ભજૂંયી ઘિાિો 
B. જભીન ભજૂંયી લધાયો 
C. ઩લન અને ફયપ રોિ ઘિાિો 
D. ઉના઱ા દયસભમાન રફંાઈ સલટતયણ કા઱જી રેલા ભાિે . 

 

 m)  RCC ઩ોર ભા ટ઩ાન કેટ્રો િોઇ છે 

A. .250-400m 

B. 80-150m 

C. 50-80m 
D. 25-50m 

 

 n)  નીચેના ભાથંી  કમા લોલ્િેજ  અભેડયકાભા ંટ્રાન્િસભિન લોલ્િેજ નથી? 
A. 66 kV  

B. l32kV  

C. 264 kV 

D.  400 kV 

 

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 

 A વેકેંડરય રડસ્રીબટુય ભાટે પીરડશગ ઩દ્ધનતઓ વભજાલો.     

 B ઩ીન અલાશક વાથે વસ્઩ેશળન અલાશક વયખાલો.   

    

Q-3  Attempt all questions (14) 

 A ત્રણ ઇંસ્યરુેટય ની સ્રીંગ ભાટે મ્યચુ્યઅુર કે઩ેવીટશવ ળટં કે઩ેવીટશવ કયતા 9 ગણ ુછે. રાઇન 
લોલ્ટેજ 33kv છે. તો દયેક યનુનટ ના એક્રોવ નો લોલ્ટેજ ળોધો  

 

 B ફવ ફાય વ્મલસ્થાઓની પ્રકાયો ની માદી ફન્નાલો . કોઈ઩ણ ફે વ્મલસ્થા વભજાલો.   

    

Q-4  Attempt all questions (14) 

 A સ્સ્કઇન અવય વભજાલો.   
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 B ભાધ્મભ રાશવનભળન રાઇન ભાટે ઩ાઈ ( ) ઩દ્ધનત વભજાલો.   

    

Q-5  Attempt all questions (14) 

 A ભગૂબય કેફર જરૂરયમાત આ઩ો અને કેફર ન ુવાભાશમ ફાધંકાભ વભજાલો   

 B પ્રાઇભયી ડિટટ્રીબ્યિુન અને િેકનિયી ડિટટ્રીબ્યિુન સિટિભ ની િયખાભણી કયો.  

    

Q-6  Attempt all questions (14) 

 A EHV ટ્રાન્િસભળન ની જરૂયીમાતો અને  ગેયપામદા િભજાલો  

 B HVDC સિટિભ પ્રકાયો િભજાલલા અને તેના રાબ રખો.  

    

Q-7  Attempt all questions (14) 

 A દોયો અને H પ્રકાય કેફર, SL પ્રકાય કેફર અને HSL પ્રકાય ના કેફર િભજલો  

 B કેફલ્િ લગીકયણ િભજાલો  

    

Q-8  Attempt all questions (14) 

 A ઇન્િોય પ્રકાય િફટિેળન ઩ય આઉિિોય પ્રકાય િફટિેળન િયખાભણી કયો.  

 B િબ્ટિેળન ના કોઇ િાત એરીભેન્િ ન ુકામસ િભજાલો.  

    
 
 


